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1. Write your Roll Number in the space provided on the top of this page.

2. This paper consists of one hundred (100) muttiple choice type of questions. All questions are compulsory.

3. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested to open the
booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
sticker seal and do not accept an open booklet.

(i} Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Fautty booklets
due to pages/questions missing or duplicate or not in seriat order or any other discrepancy should be got replaced immediately
by a correct booklat from the invigilator within the period of 5 minutes. Afterwards, netther the Question Baoklet will be replaced
nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), {C) and (D). You have to darken the oval as indicated below on the correct
response against each item.

Example: (2> @@ (©O (DD where (B) is the correct response.

5. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper ~ 1l only. If you mark your response at any
place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booklet.

. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space
aliotted for the relevant entries, which may disclose your identity, or use abusive language or employ any other unfair means, such as
change of response by scratching or using white fiuid, you will render yourself liable to disqualification.

8. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry it

with you outside the Examination Hall. You are however, allowed to carry original question booklet and duplicate copy of OMR Answer

Sheet on conclusion of examination.

9. Use only Blue/Black Ball point pen.

10. Use of any calculater or any electronic devices or log table etc., are prohibited.

11. There shall be no negative markiné;.

12. In case of any discrepancy in the English and Guijarati versions of questions, English version will be taken as final.
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LAW
Paper - i

. Who defines jurisprudence as the

scientific synthesis of the essential
principles of law ?

(A) Allen
(C) Salmond

(B) Holland
(D) Austin

“Jurisprudence is lawyer's extraversion”.
Who is the exponent of this thesis ?

(A) Roscoe Pound (B) Jemmy Bentham
(C) Julius Stone (D) AV. Dicey

Who among the following divided the
sources of Law into formal sources and
material sources ?
(A) Keaton

(C) Gray

(B) Salmond
(D) Allen

. Which of the following duties have been

included by Austin in the category of
‘absolute duties’ ?

i. Self regarding duties
i. Duties owed to persons indefinitely
iii. Duties owed to parents

iv. Duties owed to the sovereign

Select the correct answer using the
codes below :

(A) i, ii and iii
(B) ii, iii and iv
(C) i,liand iv
(D) i, iiiand iv

1.

A2 eoflcay AH St sl QR

calludl ‘slaLelell wElad Rgidlell
dsi@s urocta Al seuHl wicdl B ?

(A) At (B) &cllos
(C) AUHS (D) AHRRal

@l A aflda] oildrse & —
vallAell Yl 51gL olua 8 ?

(A) A8 WGos (B) ®%ll Aoaur
©) yllad Rt (D) Al sl

(1 Aeil WSl Sloll 62 StAELoll M cllal
WUARS A axe ellds Al
Qe scuHi vl & ?

(A) (3ot (B} AMS

(C) A (D) At

VRt 612l oA 2 §2%) Usl 58
§98loll uH1A Uyl 5%’ oll Al
SCUHL WA 8 ?

q. ¢t - Aoltll 52
2. UREAAUA Bl ude{l $98
3. Hldl = Rl wRsdl g2

¥ Aldeld At UcQoll st

oflA WU [@Ascdl Ust A weliol
U,

(A) 1, 2 o 3
(B) 2,3 ol ¥
(C) 4,2 Ual ¥
(D) 1,3 Wl ¥




5.

Most of the approaches in current century
have in one way or another, concerned
the law with

(A} Morals
(B) Values
(C) Ethics

(D) Society

. As per the reformative techniques in

Juvenile Justice, following enactments
aimed at preventing the young offenders
from becoming hardened or professional

criminals in future
i. The Children Act
ii. The Reformative Schools Act
iii. The Juvenile Justice Act
Select the correct answer in ascending

order of their enactment using the

following codes :

(A) i, ii and jii
(B) i, iii and ii
(C) ii, i and iii
(D) ii, iii and i

5. Al AElHi Hal eudlell U@ouA As

ol A staela MDIENEN

&,
(A) allAsdl

(B) H&ll

(C) AlQu~u

(D) M

6. (3202 cuatell YuRnHSs dsellal MajUR,

o{lA eafdel stAel Yoot oAouARA

ellxul At wadl cdu@s aaoul
ololcll Asall Vol LA AN B,

1. silaslell B Aan
2. yuricel awou H@Aan

3. (590R U wRERANY

o1 ealdel [@QscQoll Gualot 53l
AU Bl GUAS SIAELR UScllell
UHAHL USAL $HHL 205l

(A) 4, 2 val 3
(B) 1,3 3ol 2

(C)} 2,2 el 3

(D) 2,3 Wal 1




7.

Read the Assertion (A) and Reason (R)
and give the correct answer using the
codes given below :

Assertion (A) : Alegalrightis a legally
protected interest.

Reason (R) : An element of advantage
is essential to constitute right.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

. Actual possession implies a right to retain

unless otherwise is proved and to that
extent a is presumed to

be an owner.
(A) bailor

(B) successor
(C) user

(D) possessor

. According to Dicey there are two kinds

of sovereigns
(A) The State and the political

(B) The State and the legal
(C) The political and the legal
(D) None of the above

7. o{lA ulet [Azt2ucds [Quet (A) wa
5120 (R) allAl W o{lA wen
[Ascllott 2 Al scol
Ratauens Qe (A) : stofell w512
A/sl2AEL Gl ABA Bt B.

51201 (R) : A5l ual 2 Al
ded 8l vllaus 8.

[@sel :

(A) ¢t (A) v (R) AU B ual
(R) AL (A) ot Al el &

(B) olal (A) ol (R) 2wl & U
(R) A (A) ofl 2l angcll otell

(C) (A)AY 8 ud (R)WlE B
(D) (A)uwlg & ud (R)u3 &

8. cllicldls 501981 Ul sReclloll w@sIR
yud B Raa 3 A Qzeell cuod
WA sy v &l Yl
HAs ol Qe wadl.

(A) AseR (RAusdl)
(B) AURMEIR
(C) auRlAscl

(D) SOUBER

9. stlatt Mt yorol Adeld Aol
yYsiA sl 8

(A) A% Wa AwHA
(B) AU A stepell

(C) A8l Aal stejell
(D) GuUAsct USl O o2



10.

11.

12.

Right in re-aliena means a right over

(A) his own property

(B) a property of someone else

(C) a property situated in one’s own
country

(D) a property situated in a foreign
country

In A.K. Kraipak Vs. Union of India, which

of the following principles was laid down

by the Supreme Court of India ?

(A) Principles of natural justice are
applicable to administrative
proceedings

(B) Judicial review is a part of basic
structure of the Constitution

(C) Post decisional hearing would be
sufficient for the observance of
principle of natural justice

(D) Rule of law is embedded in
Article 14 of the Constitution of India

In which of the following cases, the
Supreme Court opined that “right to
speech and expression is an undeniable
human right and it is basic human nature
to give vent to one’s inner feelings
through speech and expression ?”

(A) Ramlila Maidan incident, in Re.

(B) Life Insurance Corporation Vs.
Manubhai Shah

(C) Romesh Thapper Vs. State of
Madras

(D) Maneka Gandhi Vs. Union of India

10.

11.

12.

Uad [Auas w@si: Red

GuRell uEsl1R.
(A) el Aetsd

(B) ooll Metsct
(€) @l =il Tai ¥cll Retsd

(D) [QZai ¥cll Metsdt

AL slgus [Q¢ elrd USRS
SUHL cHER ucdRAU AUELAHA gl

old eafcant Ul s [Rgicd otsst
HCHL vlcR] ?

(A) A8ladl selanélolui wslds
Aol Rslcl @d] w3 B
@) URSs Yoiuaclset B lulQLelt
HAYA HLLel oL B
Uslds sAl2Aoll Rgiclotl UWEel
HER Gl sal seell yottan(l
yrdl ougual
(D) el GltlRQell Ao BE L¥HL
SIAELoll AHotoll AHIAL WA B

oA gaficall Adlotl SA  SUHL oAHELR
Yol e SR A U %
SRCAUHL wcll 3, ‘augll el
Ul w@Abll wlsiR A As
aAsldl ol ASA AQ  Hlolcl  A@s(2
8 ol arll W wGA b2t
Wellell AicdRs cuoeflla ysileld

sl A A5 offAanél Hatal
elellel 87

(A) Al Neleotoll collalell Funi

(B) et [Ax Bo (Aze Hojeus
as

(C) A% AR [Aa HsA AU

(D) HAotst alitll [Q3& U ARSIR

(€
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13.

14.

Arrange chronologically the following
cases year wise decided by the Supreme
Court of India, following the codes given
below.

1. Olga Teliis Vs. Bombay Municipal
Corporation.

2. Francis Carolie Mulhin Vs. Union
Territory of Delhi.

3. Satwant Singh Sawhney Vs. Passport
Officer.

4. Kharak Singh Vs. State of
Uttar Pradesh.

5. National Legal Services Authority Vs.
Union of India.

Codes :

A 3 4 1 5 2
B 2 1 3 4 5
C) 2 4 1 5 3
D)y 4 3 2 1 5

Assertion (A) : Clause (1) of

Article 20 of the Constitution of India
prohibits retrospective operation of
Criminal Law.

Reason (R) : The primary purpose is to
protect the interest of the accused and
hence a criminal law which provides
benefit to the accused must have
retrospective operation.

(A} Both (A) and (R) are individually true
and (R) is the correct explanation
of (A}

(B} Both (A) and (R) are individually true
and (R) is not the correct explanation
of (A)

(C) (A)is true and (R) is false

(D) (A) is false but (R) is true

13. oUHELR U2 UElEd 6RL [Ael
sctHl AAcll (Aol Ysietadlal
Aol [Qglatett aelt s:ML AR
[@scdell Gullot s34l ollscll.

q. el 2l ([Azs oA HElodR

ul@st
2. slR™ ¥Acllet Yot (34 (el

500 AR YEa
3. Uddd Re Weoll Q¢ wawe
WEaR

¥ ussile (A3 Grir ytat A
W, 8l siofell Sal Actisn (Qe

QU U3,
[Aseul :
(A) 3 ¥ 1 U R
B 2 1 3 ¥ \
(C) 2 ¥ 1 U 3
D) ¥ 3 2 1 Y

14, [Qaucis [Qttet (A) : HRdsll
GLURBLolL WRBE 200(] SEAH (1)
slorell slatelotl usite el BHA o

yAeidld s¥ 8.

5120 (R) : WtaMls 3q A lett Blell

281 52cllell B A Al A Slweldt

slAEl ¥ B WRIloll cllet 243\ Hlotaues

g2l 8l Aol usiectcdl M 8l

HEENH

[Qseul :

(A) ¢ial (A) ual (R) calsaold Aa
8w (R) A (A) ofl a2l unxld &

(B) ¢ial (A) w4l (R) ol fla
AUl ® wal (R) A (A) ofl aadl
U otell

(C) (A)UY & wal (R)A Vg B

(D) (A)Wlg & Ul (R)u3Y B




15.

16.

Match the List — | containing the name
of the cases with List — 1l containing the
subject matter of the case, by using the
codes given below.

List -1 List =1l
. State of Rajasthan 1. Harmonious
Vs. G. Chawla Construction
. K.T. Moopli Nair 2. Colourable
Vs. State of Kerala Legislation
. Gujarat University 3. Repugnancy
Vs. Krishna Ranganath
Mudholkar
. M. Karunanidhi 4. Pith and
Vs. Union of India substance
Codes :

abec d
Ay 1 2 4 3
B 4 2 1 3
€ 2 4 1 3
o)y 2 1 4 3

Which of the following Articles of the
Constitution of India says that “The
Supreme Court shall be a Court of
Record and shall have all the powers
of such a court including the power to
punish for contempt of itself” ?

(A) Aricle 124

(B) Article 129

(C) Atticle 135

(D) Aticle 141

15.

16.

ol WAA el 4 |l gelladd 3Well
slldlal A€l ? Ui eoldd [Aua axg

AU MRULA Aol LA el

(Ascilaiell 20t
ALE] - 1 L] - 2
. Rl AU 1. YRORAUAMR
Q3¢ . Al wdueet
CBAL Wudl slair R AcAGUUY S
@3¢ ¥2ct A% statel
oRAd YRaAldl 3. wRidlddl
(Az¢ Bwit 2011
YUl s?
A, s30Uell@ Qe ¥ Ul ual sLE
ERRIELTE
[@Qscdl :
abc d
(A) 1 2 ¥ 3
(B) ¥ 2 1 3
(C) 2 ¥ 1 3
(D) 2 4 ¥ 3

ellRcllat oitnlell (A eallcaut USloll
sl w2 Al Wl 53 D ¥

A2 WELAA B8 wladl Aeldd
aLeual el Aol WA Wcltell ‘UcHtotoll’

HI2 [@lew sal U il AUeled
W Sl RS Al i e 234"
(A) woWE 1Y

(B) uojWe 12¢

(C) uajWeE 134

(D) ojBe ¥4
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17.

18.

19.

When a writ is issued to an inferior court
or fribunal on grounds of exceeding its
jurisdiction or acting contrary to the ruies
of natural justice, it is called a writ of

(A) Certiorari
(B} Mandamus
(C) Quo warranto

(D) Habeas Corpus

Administrative law deals with
i. the powers of Constitutional
authorities
ii. the powers of Judicial Authorities
iii. the powers of the Administrative
Authorities
iv. the powers of the Legislative
Authorities
Codes :
(A) only (i) and (ii) are correct
(B) only (ii) is correct
(C) only (iii) is correct
(D) (i), (ii), (i) and (iv) are correct

The High Court can interfere under
Art. 226 of the Constitution, only if the
action of an administrative authority or a
tribunal is

(A) Unfair or unreasonable
(B) Violating any statutory provisions

(C) Defying the rules of natural justice

17.

18.

19.

w? 565 oflucll WEted 3 U Anell
e5H ol WASHR wed uacl wslds
Aol Rgidell Q36 st s wea
Sl BsUUA slgcllHl uley] 8la day
ULSUUAA sl wLsLUA 313
AAOAHL 2 B ?

(A) Glual

(B) WLHiEaL

(C) &5l yaust

(D) ¢igl yeuells2il

cAladl sladl —wd [eid vAd B,
. ol AetHs ol ofl Al

2. ARS UrtHsnl ofl ucl
3. d@adl drisilell
¥

- Rl Aol

@Qsel
(A) HIL @ ol 2 AU B

(B) HIAL 2 ALY &

(C) M2 3 AY B

(D) 4,2,3 Aol ¥ YU B

HEURRLell ugWBE 225 36, asdl
UELAA Wl RuR % gulcdlldl sdl o
5 R 88 aéladl adiHsn waa
AU s alal.

(A) N2cauzoll ¥ w2l

(B) 818 slojell lolcuefullall elot 52
(€) Ws@s Ut ReidR meldRl

(D) BUset Ml
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20.

21.

Abuse of discretion can be inferred from
the following circumstances. Find out the
answer from the codes given below.

i. Non-application of mind
ii. Colourable exercise of power

ii. Non-observance of audi-alteram
partem

iv. Irrelevant considerations

Codes :

(A) only (i) is correct

(B) only (i}, (ii) and (iii) are correct
(C) only (ii) and (iii) are correct

(D) only (i), (i} and (iv) are correct

The Permanent Court of International
Justice observed “States had often,
in practice, abstained from instituting
criminal proceedings and not that they
recognized themselves as being obliged
to do so, for only if such abstention were
based on their being conscious of having
a duty to abstain would it be possible
to speak of an International custom” in
which of the following case ?

(A) S.S. Lotus case
(B) North Sea Continental Shelf case
(C) Asylum case

(D) Angio-Norwegian Fisheries case

20.

21.

@asojfaell gaualol oA calac
dslolHiall crrell astal 8. dAHi WA

agcitol ol Aol [Asedeil U 2N
q. 6% AGAU GURAL ot 5l

2. Utloll GLHs GuzloL
3. uatsizal detncloll ds o aucl
¥. WA ool tauletHl Adl.

CEGNE
(A) HIA LAY
(B) HI 1,2 ¥al 3 WU

(C) HIoL 2 el 3 UL
(D) A 2,3 o ¥ AUl

(1A galca Ubloll sauL B
wdRAPA uell sl weldd
g AG vdAlsot s WR] B
AUeeuldl AR, cAdsRHL
Sogeldl stdaudl sausll Wdls A3
DU A Aecl M2 «igl 3 A
Wleltel Ad sl GlEC Gldd M B
Udq | g wesq Dol Al
yollotcll. BUR wwlRd s 3 )
A2 3812 Gur olleg st

W Acll Anell 29 Sl Hiotcll &l
(A) VA AU A2y 3

(B) «ltdl Al Sledlaezc Acy 3u

(C) BUSHH 3y

(D) eocll ol fatat glatdls 3




22. Which of the following is incorrect with
regards to United Nations Charter ?

1. The security council shall consider
and approve the budget of the United
Nations Organization

2. Each member of General Assembly
shall not have more than one
representative in the General
Assembly according to Article 9 of
the UN Charter

3. General Assembly may cali the
attention of the security council to
situation which are likely to endanger
International peace and security

4. Decisions of the General Assembly
on important questions in Article 18
of the UN Charter shall be made by
a simple majority of members

(A) 1,3, 4
(B) 1,2,3
(C) 2,3,4
(D) 1,2, 4

23. The principle of “ex acquo et bono” is
contained under which provisions of the
statute of International Court of Justice ?

(A) Article 38(1) ()
(B) Article 38(1) (b)
(C) Article 38(2)

(D) Article 38(3)

22, HYscl Aol R 3601 (A eafcan
Ul sl [@Qscu vial  ?
q. HeUHA #0UA s A
HUBloll BELFUARN CRllotH]
AR o HyR 524
2. UYSAl Aol UERell o],
¢ BofUR UHLA Uelloll YA

U WA MHLeAL HeUHL As
scll dtlt? YR R A,

3. UlHloA el AidAla aild
Ul UAHA HEZ B3 Sl

Hellaell Sla Al uREIRA uRA
UM Al AMUA of tauet 13 a3,

¥. AYSel Aol AR We]. 1¢

GURell Heacotl Yl U ULHLe2L
Heloll ueoll wel agu of)

(Al Acuni wtadl.
(A) 4, 3,%
(B) 4,,3
(C) 2,3,%
(D) 4,2, %

23. ‘AsU AsAol N2 o’ ol Rgict
WAL 21200l MELA Ao

tLRLedl s¢5 Aol dsn
A saMi wde 8 ?

(A) ueBE 3¢ (1) (W)
(B) ua2Be 3¢ (1) (oll)
{C) WWe 3¢ ()
(D) AUWE 3¢ (3)
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24,

25.

26.

In the event of the dispute as to whether
the International Court of Justice has
jurisdiction, the matter shall be settled
by

(A) The General Assembly
(B) Security Coungil
(C) Permanent Court of Justice

(D) International Court of Justice itself

Which of the following is not the

specialized Agency of the United Nations

Organization ?

(A) World Health Organization (WHO)

(B) International Telecommunication
Union (ITU)

(C) World intellectual Property
Organization (WIPO)

(D) None of the above

Who defined extradition as “extradition is
the delivery of an accused or convicted
individual to the state on whose territory
he is alleged to have committed or have
been convicted of a crime by the state on
whose territory he happens for the time
tobe” ?

(A) Starke
(B) Oppenheim

(C) Salmond

(D) Austin

24,

25.

26.

A cuell WEIAA WA
ESHA D ¥ olld d sllotel 2idlsll

Qe Geust Uadlotl AoUHL A
oot el gl2t sl

salHl A
(A) ALHL Ul
(B) dctH 1AQ
(C) Ualell el UeLEd
(D) a2l AicdAFNA ULl Al

Uysel A Araledl 1A eaicau Ugledl
58 Aol @QRNe e el 2

(A) (Ao zeureal AdLGa

B) vidAla 2clls1elldeia et
(€©) (A olll&s Aulq 2een

(D) GUAs i Ul Bl oild

ol eaflca U8l Slolt g1l yeeu el
carult Ll YHIGl saHl sl 82 -
yeiel A A R waau
satalRell B- A A s2aMl el
Auell vieal® AFAHL A UG BAR
8l%? flal A uHA Aal  Awuell seHi
8185 oell sall slar al A AU gl sl
Uz A 9ol sallell wWRU cousalHl

Qe flat. ¥ ugdl opeit 2ol [@la
sralHl AE &
(A) 215

(B) ¥ uel &H
(C) S
(D) kRt



27. The concept of “Erga Omnes” was
recognised by the International Court of
Justice in

(A) Nicargua V. United States of America
case
(B) North Sea Continental Shelf case

(C) Barcelona Traction case

(D) Anglo-Norwegian Fisheries case

28. Who among the following said that,
the law of Nation is “the body of legal
rules which apply between states and
such entities as have been granted
International personality” ?

(A) Starke
(B) Oppenheim
(C) Schwarzenberger

(D) Bentham

29. How many ANNEX are there in the LIST
OF ANNEX in the agreement establishing
the World Trade Organization ?

(A) |

(B) I
©) i
(D) IV

27. U3 Aelloy’ oll velet wictAdey

28.

29,

el WELEAA @it Aot UG sal
BUML sA UM WA ?

(A) @sRopu Q36 yousss Bax
s ARSI 3y

(B) o4 Al fledlAeect Ny B
(C) Al 25Ut 3
(D) WAool olldwaat Hadlns 3

ollAsil US] Slotl a1 A Qtilet
WLULHL A B ¥ AR st2E)
(R Radod A wye ® 3 %
A% A A y3 B BuA wal
Aall Al MicdA 2 R
sloclaHl e 8 ?

(A) b
(B) ¥ust &4
(C) A atololR

(D) dotun

(A cawiz e ofl UUsilell 52201
As1Qlell 2l dect Asiel /el B ?

(A) 1
(B) 2
(C) 3
(D) ¥
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30. Which of the following is correct ?

(A) Interational HumanitarianLawis a set
of rules which seek for humanitarian
reason, to limit the effects of armed
conflicts

(B) Jus ad Bellum regulates the conduct of
parties engaged in an arm conflicts

(C) Jus in Bello refers to the conditions
under which states may resort 0
war or to the use of armed force in
general

(D) None of the above
31. Non-Compos Mentis denotes —

(A) Non-serene memory not from birth

(B) Every person is considered to be
same unless contrary is proved

(C) When a criminal act is performed
during derangement

(D) When the cognitive facilities are such
that he does not know what he has
done

32. The right to private defence against
an act done by a public servant is not
available -

(A) When it was done while he was not
in his office

(B) When it is strictly to be justifiabie by
law

(C) When it is attempted to be done by

him

(D) When it is discharged in good faith

30. o0 eefcan Udle] 53 Quuet WY B ?
(A) AidRAL Histelclellel stel
Al Qarlel W & 5 2
Aerat el welsal Hie
Hetaldtalgl siell o 8.
(B) ‘ord A5 At A dalul

AstAet ugistetl celot]
(Rt 52 B.

(C) % 8ot AAL A Roll F601 AW
26wl AUHA A Ao
wel GUaL el Al Acll
FARA GeAwn 52 8.

(D) GuAsct U8l 5\ 1@

31. ‘ollot S0 Nl 2AGE Y YUA D ?
(A) ool % ot Blat Al Alict
£ A

B) i Yl (@3¢ clloict Al
of &l Yl ydls el
s UHlel dEuLA B.

(C) cataizall all AR EARULe
sRclMl A Hreldl s

(D) AR Actotiens YlAURA Ael
ysieoll day Adl g 59 A
el AR sl ot sl

32. %22 Acs &l sAHL A §&l

Q34 w2l UEsR sAR

Guctett Ul «12fl ?

(A) AR A sl scUML A 8l
@R A Weltell @2l UR o &l

(B) waR d e 3ld SIRAEL 601
c2ul2l Aol 2L,

(C) FAUR A Aslt 62U sRellell Yoot
sraltHl A L.

(D) »U? A Y& ¢leyds sauHl
dct




33.

34.

Which Section of the Indian penal code
says that “whoever abets any offence
shall, if the act abetted is committed in
consequence of the abetment and no
express provision is made by this code
for the punishment of such abetment, be
punished with the punishment provided
for the offence” ?

(A} Section 109
(B) Section 129
(C) Section 141
(D) Section 149

Assertion (A) : The elements of criminal
liability must be proven by the Government
beyond a reasonable doubt.

Reason (R) : If any element s not proven,
the person charged must be found not

guilty.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of {A)

(C) (A) is true but (R) is false

(D) (A) is false and (R) is true

33.

34.

elRella Sloretd] wizioll 565 sein
AG HUA B “R NS st HegaTlol

URGUA $cUHl A Hlal AR A
Ystell HeEUTlotl s12] M2 Rlauodl A
AU AOLUES B SLAELU] of Slod AL B
Aetl Hie Heeoud scuni el A A
Yol 12 Becll Blewedl Rotcues selni
well 8 Azclls @an eeoyd
HIZ seUMl wiad ?

(A) SCGH 10¢

(B) 5AM 1R¢

(C) sEH ¥4

(D) 5GH 1¥¢

[latauas Quiet (A) : ot
FUHELTlo] el UBLR Gl

aosoll eist ol uz WA uq ASA,

SIRRUR) : % SIS clect UUAA SAUH| o
A, AR YsaHi 20 QA
sl el W RSH oild,

(A) olal (A) U (R) WU B WA (R)
A (A) ol Al wux@ B.

(B) il (A) Ul (R) MU D Aa (R)
A (A) oll wll anxl@ otell,

(C) (A) WY B wua (R) B Mg D,

(D) (A) Wig B Aol (R) Wy 8.
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35. Which of the following is/are the main
ingredient(s) of the Section 120A of the
Indian Penal code ?

1. There should be two or more
persons.

2. There should be an agreement
between themselves.

3. The agreement must be to do or
cause to be done an illegal act, or a
legal act by illegal means.

Which of the above statement(s) is/are
correct ?

(A} Only 1
(B) Only 1 and 3
(C) Only 3
(D) Ali1,2and 3

36. The maxim ‘de minimis non curat lex’
means —

(A) Trifles are not to be treated as crime

(B) Nothing is an offence which is done
by a person who is compelied to do
it by threats.

(C) A child below the age of seven
years is incapable of committing an
offence

(D) Necessity knows no law

35.

36.

o gacalt Adletl sl el URAlA
Roge (] tnell s6H 120 A ol HuA
decl B 7

1 A% Aell au caal fla
5.

2 Qull 22 sA/ANE Al ASA

3. Wl S SLABUR el ARBLRATUR

A el Sl ARSAUTUR A sl
23l wacll sAA A Al BT

12 2 U4 52/ seu @Quitoll WRL
8 ?

(A) HLA 1
(B) HIA q ol 3
(C) HIA 3

(D) cLHH 4, 2 ¥al 3

¥ {lolld ollot 5222 Qg A YAell
wd U8

(A) SAEL atpell ardal IYoll 3Ll
otell

(B) A A geat foll AU iR 3 ¥
88 caaa uxsl adl sl wa
sACLUHL WAA 8l

(©) Al cdiefl ol Aol ctat uRicteR
ool SPTueL Jell sl HER
M B

(D) 23Rl 518 sta€l reunl Acdl
otell

I



37.

Match the List — I containing Sections

with List — I containing provisions of the

sections and choose the correct answer

using the codes given below.

List —1I

Section 99

Section 77

Section 81

Section 89

Codes ;:

(A) 4
(B) 4

(C) 1

(D) 3

List — 11

. Act likely to cause

harm, but done without
criminal intent and to
prevent other harm

. Actdonein good faith for

the benefit of the child
Or insane person or by
consent of guardian

. Actofjudge when acting

judicially

. Acts against whichthere

is no right to private
defence

c d
3 1
1 2
4 2
4 1

37.

ol et atél -4 Wi eaddet sciilal

ALEL -2 1l WA sellell Rotasul
U WS Al (ML A watol {2

UL [Qscuiell 0.
a1él-q AL€]-2
SEH ¢C q. gt walasl a3
| Ag sl Ud e
5ol Asell IS Wal
ARl GRal Qe
sAUML WA s
SAH 99 . ollnSelt Banl 3
BRAR HIQeA
cal(5eloll Betni
e alclsdl
Anld A gs
of(ell sReunl
WA St
SCEH ¢ . RURs 52l 8202
sAlAL el 2lo] 2]
5S¢ ¢e . % geall (A3e SteSos
Rl URASR
Yl Al otell
[asc»xn :
a c d
(A) ¥ 3 1
(B) ¥ 1 2
(C) 1 ¥ 2
(D) 3 ¥ q
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38. Under Section 354A of Indian Penal
Code ‘Sexual Harassment’ refers to

1. Physical contact or advances
2. Making sexually coloured remarks

3, Showing pornography against the will
of a woman

4. Words, gestures or acts intended to
insult the modesty of women

Choose the correct answer using the
codes given below :

(A) Only 1and 2
(B) Oniy1,2and 3
(C) Only 4

(D) Only2,3and 4

39. In which of the following cases, the
concept of interim compensation was
evolved by the supreme court of India ?

(A) Shyam Babu Vs. State of Haryana
(B) Rupan Deol Bajaj Vs. K.P.S Gill
(C) Machhi Singh Vs. State of Punjab

(D) Bodhisatwa Gautam Vs. Subhra
Chakravorty

8. a2l Slereldl tiRiell setd 3wy (W)

do0l ancllal uctimell 2ee Ml cid)
ud 8?

q. flRs dus ¥ 2udl

2. o2l wenl st st Ruugll

3. ¥lloll S29 (A& A wlAa
Ber olaradl

¥ wllell Malel elol aa Aal
916l ol ¥ el

ol el RscHiel A Aseu 2k,

(A) HB 14 e R

(B) HA 1, 2 A 3

(C) W ¥

(D) HIA 2, 3 Aol ¥

39. (1A eallcan USlell sl SuHL

elRcloll ydla ueldet
GLRL ALl el vUEAH

Y scHl AAA el ?

(A) 2 oy Q3¢ sRaugu U8R

(B) 3uet TAA wony [Aza 3.0l
Avola
(C) HEl Rle (A3 vxmoul A

D) AR ddH Q¢ Yot usadl

N




40.

41.

42,

43.

Which of the following Sections of Indian
Penal Code deals with the provisions
relating to counterfeiting a property mark
used by another ?

(A) Section 483

(B) Section 484

(C) Section 485

(D) Section 486

In a contract the duty is owed to a definite
person but in case of tort, duty is owed
to

(A} An individual
(B) A group of Individuals
(C) The society in general

(D) All the above

The term “inevitable accident”’ denotes

(A) An unexpected injury which could
have been forseen and avoided

(B) An unexpected injury which could not
have been forseen and avoided

(C) An expected injury which could have
been forseen and avoided

(D) An act of God

The tortious liability stands discharged

if_

(A) Only plaintiff dies

(B) Only defendant dies

(C) Only if the defendant agrees to
pay the compensation in terms of
money

D) All of the above

40.

41.

42.

43.

clrcla Sloetdl el «f1A gafcay
Uslefl 565 s, wo2l G20 auzLsl
s Al Metsdeit Rsell

ASA el Aot Roteuss ©aAd o
(A) SEAM ¥¢3

(B) SCGH ¥c¥
(C) SEH ¥cu
(D) scH ¥¢s

SAML 5% A1 (AR 2l
URed 8l B UId uUseloll

(ButHl 2% Ued &l B,

(A) 5 culsa
(B) S8 calslulloll Axe
(C) AHleA A

(D) GURlsel MK

e usA’ doe o YUA D ?
(A} AUs WAURAA 91 3 B wouGsll

Rl aslA B ual 210 s B

(B) A5 WAN@AA St 3 % wouGell
85 Aslcdlotell A 21ofl asicll el

(C) s AR A St ¥ ® wouGell
lefasial 8 wa 2ol asi B
(D) Sudlay s

UUSRL Wod UHEIA @
Ul AU 3
(A) HoL el 3y Wi
(B) A AaEl ey wR
(€) HA yldeuél staulda aguni
ANAR Ysaal AHA W
(D) Gunigll dxn
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44,

45.

46.

are awarded where technically,
a legal wrong is committed, but the
circumstances make the court feel that
no action should have been brought.

(A) Substantial damages

(B) Nominal damages

(C) Ignominious damages

(D) Exemplary damages

Which of the following is true in relation

to nuisance ?

(A) An action for nuisance is actionable
per se and no special damage need
to be proved

(B) It can be committed through the
medium of intangible objects

(C) There is nointerference with plaintiffs
use or enjoyment of land

(D) It is direct interference with the
possession of plaintiff

In contributory negligence

(A) One party is negligent resulting in
injury while the other has taken due
care

(B) Lack of care is equal on both sides

(C) Both parties have contributed to
negligence equally

(D) Only one party is negligent and the
other has not taken due care

a4. 2l dsollél A stofell W s
g2l c] Blal U ¥Rl Hlell
R Welddd Agadd 88 sl
52l ATl ot ocll R AR sl

ol £1E JEL AUUHL A B,

(A) olluulA ofseliel AR

(B) sliMe] ajslet CilciR

(C) 49 (8JCAS) ofsUst AfclR
(D) ELHEAIU efsellel AR

45. Gusclell Aeclul o3 ealcau UL 53

WY 82

(A) Gusiciell £l clct: cULEARL B sl
A8 QAN ofsot WA scu6ll
ulagausdl o8]l

(B) Ay uetsllotl Mt usl seUHl
wcl o3 B.

(C) Al €l g1 %Hlotoll GuldL AL
Guelowl 518 sy ool

(D) & atélell sowstul Al sre@u B.

46. uslas GuauHl

(A) 3l ual Aesdl 53 B Fell URURA

S A B wal? oflot ual Aoy
swy el la &

(B) olal ol slYell Al HHlot
aa 8,

(C) ¢l UaSAN AEBILHL UL
ALELet vUAE Bl B.

(D) M2t As UasR Aew emad B

wu oflogt U Ao s el ot
&laL.

I
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47. Which of the following pairs is correctly
matched ?

(A) Libel is recognised as offence —
England

(B) Action lies for defamatory statement
— Absolute privilege

(C) Truth of defamatory matter is no
defence — Civil Law

(D) Defamation published in permanent
form — Slander

48. Match the followings in the light of the
Consumer Protection Act, 1986.

List-1 List — I
Contents Legal Provisions
a. Establishment of 1. Section 20

Central Consumer

Protection Council
b. Establishment of 2. Section 10

State Consumer

Protection Councils
c. Composition of 3. Section 4

District forum
d. Composition of 4. Section 7

National Commission

(A)a-1,b-2,¢-3, d-4
d-1
d-3
d-1

B) a-4, b-3, c-2,
(C)a-2, b-1, c—4,
(D) a-3, b-4, c-2,

47.

48.

olA ealcau U 565 Rl 2No=y A

Hstdet B ?

(A) BUUAKE a AU dF W
8. — 835

(B) weatelloia] RAca W@ el 58
asta 8 - Aygel QAwRs2

(C) oleatellsis ollolde] U S
ot o 2fl.- Raiodl siael

(D) weaall stanll zuni yRRs: -
Ul Yol

Aes Yrau wBEaH 1ecs o deoiu
ol wRudeu Asst M3
L€l -4 A1€l-2
Radl slopell BoLcusu
. Bodla OUES YA 1 sEM 20
uRne{l 2enuet
. AR AUES YR/ 2. 5HH 40
ulRNeofl eyt
. HCEAL SR 3. 56N ¥
DT
A TRVETE | ¥. 561 9
RUell
(A)a—q, b—2, c~3, d-¥%
B)a-%, b-3,¢c~2, d—q
(C)a—-2, b-9q,c-¥% d-3

(D) a-3, b-¥%, c—2, d—q
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49,

50.

Under the provisions of the Motor Vehicles
Act, 1988 (As Amended in 2019),
which of the following Section provides
the penalty for not wearing protective

headgear while driving vehicle ?

(A) Section 194 A
(B) Section 194 D
(C) Section 195

(D) Section 196

Match the following in light of the
Competition Act, 2002.

List -1l
Contents

List -1
l.egal Provisions

. Section 3 1. Regulation of
Combinations
. Section 4 2. Combinations
. Section 5 3. Abuse of
Dominant Position
. Section 6 4. Anti-Competitive
Agreements
(A) a-4, b-3,¢c-2, d-1
(B) a-1,b-2,¢-3, d-4
(C)a—-2,b-3, ¢c—4, d-1
(D) a~3, b-4, c-1, d-2

49,

50.

W22 clset AUREAH 1eee (R01¢ 9l

ol YRl AAUR), s oA el
ALl 56 sEH UEASsall Hadsell 2us?
Act uddel Wl sl Qo clgst

dcdtelel e £5oll Boleles 52 8 ?
(A) 5CLH 1LE¥ (M)

(B) s&AH 1¢¥(S)

(C) sC&H ¢

(D) s&H ¢S

] wREAH 2002 ot deell o132
WA Bssl %18l

él - 2ALEL-2
G GUEYBICIGON QA
a. BCH 3 1. Bs1glle] [Raunet
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(A) a—%, b—3,¢c-2, d-1
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(D)a—-3, b—%, c—9q, d-2




51.

52.

53.

54.

‘Articles of Association’ of a company
defines the

(A) Powers of a company
(B) Powers of officers of a company

(C) Powers of share holders of a
company

(D) Powers of Debenture holders of a
company

The minimum number of Directors in a
Public Company are

(A) Two

(B) Three

(C) Five

(D) Seven

A Cheque is a

(A) Promissory Note
(B) Bill of Exchange
(C) Both (A) and (B)

(D) None of the above

Sale by description as well as by sample
in Sale of Goods Act, 1930 is

(A) Condition

(B) Warranty

(C) Condition and Warranty
(D) Ali the above

51,

52.

23.

54.

518 Suollej 2 eatunt auoll cotuey w21
8 ?

(A) suUolloll Ayl

(B) suellotl w@stdloiell A

(C) $uelloll A2 Rl uxti
(D) Suslloll SlAs22 Alesalell aritzd

&R SUollotl dyrin B¥seloll aven
decll Sl ® 2

(A} @

(B) ARt

(C) uin

(D) et

As A

(A) cuelRg]

(B) @QAx2 uat
(C) (A) 2 (B) o
(D) GURlsct USl A\ ol

SIEIE

Hid QU WRl 130 360 arieiell
AU AH olyolioll WD A-L_

(A) 21Rd 2wl
(B) o8l owu
(C) 2R Axa wdudl oid dswua

(D) GURLS dHIH.
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55.

56.

57.

An auctioneer's announcement that
specified goods will be sold by action on
a certain day

(A) is an offer

(B) is an invitation to offer under certain
circumstances

(C) is a promise
(D) is a convention

Anand agreed to sell his house worth
Rs. One crore for Rs. One lakh to Ram.
The transaction is

(A) Valid

(B) Not Valid
(C) Voidable
(D) Unlawful

When necessaries are supplied to a
minor by a person, the person is entitled
to claim the reasonabile price from

{(A) The parents of the minor

(B) The estate of the minor

(C) The estate and parents of the
minor

(D) None of the above

55.

56.

57.

565 AWssU U B AWss RaAR &Y
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58. Which of the following statements are

59.

correct ?

i. Aminor fraudulenty misrepresenting
his age is not estopped from denying
the truth of his staterent.

ii. A minor frauduiently misrepresenting
his age is estopped from denying the
truth of his statement. .

iii. Estoppe! does not operate to under
a statute ineffective and so minor's
agreement is always void.

Choose the correct answer from the codes
given below.

(A) ii and iii

(B) i andiii

(C) iandii

(D) i, ii and iii

Read Assertion (A) and Reason (R} and

write the correct answer by using codes
given below :

Assertion (A) : The essence of sale is
the transfer of property in goods from the
selier to the buyer.

Reason (R) : Because Section 4(1) of
Sale of Goods Act, 1930 stipulates so.

(A) Both (A) and (R) are right and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are wrong

(C) (A) is right and (R) is wrong

(D) (R)isright and (A) is wrong

58. o{lA eafcau A4 s Qeyel i B 2

59.
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1. %l R gt Wil aa via)
BcRMUS Yels N3l se]
UAdd QA AN Weltelt RAeotel]
eslsdlal otslausll A4 asin AR,

2. %l A2 gt Wettell a2t 2R
Bl Yds A3l sRUHL

WAA Sl Al Aol Qellotl R AE ool
eslscl atstzcusll AR asia B,

3. Yool Rgid RAea Qo
VUSRS olollalall HIZ s3] 520
otel wal Aell wollzell wux@
SN REGUAA A B,
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oA et [araucts Qe (A)
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60.

61.

0

Match List — | with List — I and select the
correct answer using the codes given
below :

List -1 List—-1l
a. Lapse of offer  i. Weekv. Tybold
b. General offer ii. Hentormv.
Fraser
¢. Communication iii. Coffee Board v.
of proposal CCT
d. Implied iv. Lalman Shukla
proposal v. Gauri Datt
Codes :
a b ¢ d
(A) iv il i i
(B) ii i it v
C)ii i iv il
(D) i i v i

Match the List — | containing the
Legislations with List — I containing the
year of their enactment and select the
correct answer using the codes given
below.

List—1| List -1l
The Hindu Marriage Act 1. 1939
. Indian Divorce Act 2. 1956
Dissolution of Muslim 3. 1955
Marriage Act
Hindu Adoption and 4. 1869
Maintenance Act
Codes :
a b c d
(A) 2 1 3 4
(B) 3 4 1 2
(C) 1 2 3 4
4 2 3 1

60.

61.

(D)

a1€l-4 A AEl-2 WA UL
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Aot uscllHl vudet o wd

A U A el oA
et @scdniel e s
ALEL- ALEL- 2

a. B¢ ctoot wRIAAH 1. 1939
b, atxcllat eldst Bl 2. 1956
c. YRAH @t (AWDe 3. 1955

w2
d. B exts Quiet At 4. 1869

elRRIUINEL 'Rl

@sel
a b c d
(A) 2 1 3 4
B) 3 4 1 2
(C) 1 2 3 4
4 2 3 1




62.

63.

64.

in which of the following cases, Section 9
of the Hindu Marriage Act, 1955 was held
to be intravires the Constitution by the
Supreme Court ?

(A) Harvinder Kaur Vs. Harmander
Singh

(B} Sarala Mudgil Vs. Union of India

(C) Saroj Rani Vs. Sudarshan

(D) T.Sareetha Vs. TV Subbhiah

Which of the following is not available to
the Live in Partners ?

(A) Right of maintenance

(B) Right to inheritance of property

(C) Legal status as a married couple
(D) Legitimacy of their children

Uniform Civil Code finds a mention in

which of the Anticles of the Constitution
of India ?

(A) Article 25
(B) Article 32

(C) Article 39

(D) Article 44

62.

63.

64.

ol Uslotl seut Baumi udloay 2er
(&g et R veuusll sei-c¢

A oltlRQell At Halewi Ao
&AAA B ?

(A) &Adez 512 Q3¢ srie? Rls

B) weuyedlet Qg yFaot 24l
gaslayl

(C) UA% Al Q34 yesiat
(D) & adlan [@zs .ol ydlaue

Y Clotoll AR (cllet ot Wsota])
o ol ActHisll g Hoeuu otell 2

(A) RRIINEL W@ s12
(B) ReAscl oll clueS s55

©) WRERA éu@ ddl3ell stopell
£%%

(D) Wellolt sl Sl allRatcut

etellat oluRgietl oA gafcey Qo
5AL W BVEHL ANt ollIRS ARALR
GeAW ScUH WAL D ?

(A) WWBDE U
(B) AUPBE 3
(C) wogWBDe 3¢
(D) UefWVE ¥y




"

65. The Mithakshara is a commentary written | - 65. Rctarz ottrtell Bst BlQL giRl UM

by WA & ?
(A) Jeemutha Vahana (A) Byl get
(B) Yajnavalkya (B) AUlstacs
(C) Vijnaneswar (C) QAR
(D) Naradha (D) olRE
66. A marriage with a woman undergoing | 66. §€ £ ol AHAAN dlolell 22 =
iddat AL scUHL WAE Adet allaL.
(A) is void (A) cud
(B) is valid (B) AU
(C) is irregular ©) AR
(D) is illegal (D) JRSIATUR

67. If the adoption is by a male and the | 67. gl NS Y™ GlRL TS AcUHL AR

person to be adopted is a female, ottos Bl enlde] 8 Al
(A) The adoptive father is atleast (A) exis Aotk Al €78 AcHl
18 years older than the person to be ulaolll caAla el ML
adopted 29t 1¢ Al Yy GUR uRLcollR
8ldl AN
(B) The adoptive father is atleast (B) &ci5 Aotz Ral eds AauHl
25 years older than the person to be ucloil? calEa sl v e H U0
adopted U o ay GHR YRldelR &ldl
el

(C) The adoptive father is atleast
21 years older than the person to be (C)
adopted

Eds Aotz Qdl £xis ActHl
wicloll? cUERL 52 cll 2UHIRASL 24
ad ay GHR URdaR Sd KEu

: : t .
(D) The adoptive father is atleas (D) £cls Allz Rl s Al

42 years older than the person tobe
adopted

iLclotl? cER SRl VULHIABL ¥ R
ad ay GHR uRlastr Ad HEU.




68.

69.

70.

The mother of deceased male Hindu
dying instate is entitle to inherit Son’s
property in the capacity of

(A) Class Il heir
(B) Class | heir
(C) Not entitled

(D} None of the above

Under Hanafi law a

(A) gift between husband and wife
cannot be lawfully revoked

(B) gift between husband and wife can
be lawfully revoked

(C) gift between husband and wife can
be lawfully revoked after divorce

(D) gift between husband and wife can
be revoked lawfully after the death
of the donee

Under Hindu Adoption and Maintenance
Act, 1956 an illegitimate daughter can
Claim from

(A) Her Father
(B) Her Mother

(C) Her Father and Mother

(D) Kartha of the family

68. 18 (Gleta@aict 3y uimol2 (B y=t

69.

70.

WAl Aell Hictt et AR 2y |

Aell Resanis) eor ying 59 ad ?
(A) Bellat sauet qreuei?

(B) UM selloll clRUELR
(C) Petsd W2 ss56l2 AR
(D) GuRlsct Ud] 5165 o3

&5l A vidold

(A) U AUR Ut el A2y
slAE ¥R A 26 59 o sl

(B) ulQ wal Ut 22 A2
SIRAEUR AQ 2¢ 53 sy

(C) WA 2 Ut c2el] A2 ©218s!
OLE sla2 AR 9A e 53] asix

(D) u@ A Ut a2 ell A2
wellsiRatRell Hey alle st e
A 2¢ 53 s

(B¢ extslAuiot wA erRgwy w3l
LEUS 8601 As Aatl2n Yl lofl WA
Eld 53 a3 7

(A) Rt wasl

(B) Hlcl wael
(C) Rl uA Hicw wAs
(D) WRatzell sdl was




71.

72.

73.

(D) i, ii and i

Which provisions of the National Green
Tribunal Act, 2010 defines, Substantial
question relating to environment ?

(A) Section 2(Q)

(B) Section 2(m)

(C) Section 2 (n)

(D) Section 2(k)

Under which Article of the Indian
Constitution both parliament and the
State Legislature have power to make
laws in respect of the subject “Forest”.

(A) Article 241
(B) Article 243
(C) Article 246

(D) Article 249

The Environment (Protection) Act, 1986
was enacted :
i. to provide for the protection and
improvement of environment

i. to implement the decision taken at
stockholm conference

for the prevention of hazards to
human beings, other living creatures,
plants and property

(A) iand ii
(B) i and i
(C) ii and il

iii.

71.

72.

adlal Rt U w@RH, 2090 o{l
56 sEM waldreel AdLdl Hecdoll

Altruist ystofl catvaul 00 8 ?
(A) 56H R (%)

(B) 5&H 2 (M)

(C) SEH (sl

(D) scH 2(3)

azclal sltiRRlell sl AU WE 600
WA, elcdlal AUE M AwRAsl
Rutetisaa ‘wler @Bnal U stEl
slottetalell Al Yt UAE B 7

(A) WofWE W1

(B) WolWVE %3

(C) WWE YS

(D) VlojRBE IYC

73, ualcrel (&) 'Rl 1ecs ol M2

escllHl vieRll ?
. uAlaR0l AeRL Ay YRl e

o @\s &n uRnedl Aada folalatetl
wuHlsQL HER

5. Hoptell, o2l Pl ¥egll, el M
Blets ol Suuell 281.L vl el HI2

(A) (1) val (R)
(B) (1) ¥4t (3)
(C) (R) ¥l (3)
(D) (1) (R) st (3)

|




74,

75.

76.

The term “Net Zero Emmissions” to
combat climate change and to reduce
greenhouse gas emmission was adopted

in in year.

(A) COP -20, 2015
(B) COP - 21, 2016
(C) COP - 28, 2021

(D) COP - 27, 2022

Which principle of the Rio Declaration,
1992 provide for the Common But
Differentiated Responsibilities ?

(A) Principle -7
(B) Principle — 8
(C) Principle -9

(D) Principle — 10

The Montreal Protocol to the Vienna
Convention to prevent the Depletion of
Ozone Layer, 1985 was adopted in which
year

74,

75.

76.

vaAlaRRHL 3ostrell ket 12 Aoy
MABIGU U2 ol Gtofot W5t
HIZ ‘$A Yo GUFot’ 6g A
i ML Yot e M wiica],
(A) Ll - 20, 20qu

(B) AW - 29, 2045
(C) A2l - 25, 2029

(D) A - 29 2022

Al QuNe 1ee? ol s2l Rgid
UM YR @t wcyeerdlaq ofl
Holaus 52

(A) Rgid - 9
B) Rgid - ¢
©) Rgid - ¢

(D) Rgid - 10

ARt 3R w2 yRAys WS,
e {2 (Aot ¥RAAM] WoPlaie
dl2tsletal sl oMl el eren
uell &cll ?

(A) 1985 (A) tecd
(B) 1987 (B) 1€y
(C) 1992 (C) 1eer
(D) 2001 (D)} k004

L —




i

77.

78.

79.

The United Nations Commission on
Sustainable Development (CSD)
was established by the UN General
Assembly in to ensure effective
follow-up of United Nations Conference
on Environment and Development
(UNCED) also known as the

(A) 1986, World Commission on
Environment and Development

(B) 1992, Earth Summit
(C) 2012, Rio Plus 20 Summit

(D) 2002, Earth Summit

When was National Human Rights
Commission established ?

(A) 1993
(B) 1994
(C) 1995
(D) 1996

The International Human Rights Councll
reports directly to

(A) The General Assembly

(B) The Security Council

(C) The Economic and Sacial Council

(D) The Secretary General of the United
Nations

77. 256 Aldydl Qs U Uysd
2% U2 ofl et Y, Vet UM

el gl ad
2w Qs wEoll 2igsd el

uBne (3 AALELL) oll wuBIRS
weflsael W sal wiadel 3

B A wel A B.
(A) 1e¢s, ualaril ol [@sta i

Qe du
(B) 1¢eR, ud ube
(C) 2012, R wd R0 ue

(D) 200%, & uMe

2dlal Histal wu@stR sl etuelt
sa® sall il ?

(A) 1¢E3

78.

(B) 1¢CY¥
(C) qceu

(D) A€ES

79.
Wetoll wdaiet gy Usa 8 ?

(A) UM YU
(B) vl uRnE
(©) wUBls wA AHBE URME

(D) UYsct Agloll A9l welct

M wAlaRE

wicdla Hietd uEsR URNE glal




80.

81.

82,

Which chapter of The Protection of Human
Rights Act, 1993 provided for the provision
relating to the Human Rights Court ?

(A) Chapter Ili
(B) Chapter iv
(C) Chapter vV
(D) Chapter Vi

WIPO performance and Phonograms
Treaty (WPPT) deals with the rights of
performers and producer of phonograms.
Which of the following rights is not
granted to the performers ?

(A) Right of reproduction
(B) Right of rental

(C) Right of making available of fixed
performance

(D) None of the above

Which provision of the Copyright Act, 1957
provides that author of a work shall be
the first owner of the Copyright ?

(A) Section 15
(B) Section 16
(C) Section 17

(D) Section 18

80. siotel st dA2e1el uRR2,

1¢€3 of 53 Y50l Hlelcl g2
UELAA Aol RdleleS U B 7

(A) - Us2ML -3
(B) - usW@l -y
(C) - us2Wl -y
(D) - UsWY -5

81. cflul w2t R §lelaun AA

(WPPT) 0 etorastiAdl a0 Qallaluoll
% 5ol WERSA W Freid ©2d B,
olA ealau Udloll sl w@s12

HS AR WU HL WA ot2]] ?

(A} Yoi: 2uetlall w512
(B) U3 AUl @512
(C) Hlct 5¥cll UwAd s Guclol

sclloll W52
(D) GuRlsd U4l A 1

82. sl wRRAaH e ofl ofl3)

Qe Uslofl 56 Roteues woud ® 3
SEURL 5(Aol ux’s Sl 2ol yan
HUAG 635 Y2kl ?

(A) S6H 1y

(B) 5CM 15

(C) 56 9

(D) SEM 1¢




83.

84.

85.

86.

‘Infringing Copy’ is defined under which
Section of the Copyright Act, 1957 ?

(A) Section 2(f)
(B) Section 2(h)
(C) Section 2())
(D) Section 2(m}

‘Collective Mark' is defined under which
Section of the Trade Marks Act, 1999 ?

(A) Section 2(e)
(B) Section 2(f)
(C) Section 2(g)
(D) Section 2(h)

s\Well known Trade Mark” is defined
under which Section of the Trade Marks
Act, 1999 7

(A) Section 2(zb)

(B) Section 2(zc)

(C) Section 2(zd)

(D) Section 2(zg)

Which Article of the TRIPS Agreement
deals with the patentable subject matter ?
(A) Article 24

(B) Article 25

(C) Article 26

(D) Article 27

3. sldlage w@AaAH U ol 56 sen
350 ‘elol 521 Ac sl ol cavll
gacul waAd 8 ?

(A) 5EH (AS)
(B) SGH AAU)
(C) 5&M %)

(D) S (VM)

84. AWRRe vl 1ece ol 8¢
s 3600 ‘UHRs Rle aoea
cauABd saHl WaAd 8 ?

(A) s&AH UY)
(B) sEH R(AS)
(C) 5 (%)
(D) SEH AVA)

85. cyuz@edt vlRBaM 1eee o A
collcail Aol 56 se 360 “sgllal
calui? Qe ol catvall sRUHL HUAAD ?

(A) scim (3soll)
(B) sctH (s
(C) scH ADs)
(D) 5CAH 2A(BSD)

86. ARUTRIPS) 5l ol ealealt QA
52l Ao WE V2o Yltct US A3 aclt
Quatcrg’ 2 LA 52 8 ?

(A) BfDE
(B) ofIE WM
(C) wofWE 2§
(D) WefWE I




87. Which of the following statement is

88.

(D) None of the above

incorrect ?

(A) Members of TRIPS Agreement
Recognizes Intellectyal Property
Rights as Private Rights

(B} TRIPS Agreement came into force with
the WTO Agreement in January, 1994

(C) ANNEX 1C of the agreement
establishing the World Trade
Organization from the LIST OF
ANNEXES deal with agreement on
trade related aspects of Intellectual
Property Rights

(D) The council for TRIPS administers
the TRIPS agreement ang iS open
to all WTO members. The council
reports to WTO General Council

Which of the following is incorrect with
regards to the Geographical Indications
of Goods (Registration and Protection)
Act, 1999 ?

(A) An Act to provide for the registration
and better protection of geographical
indications relating to goods

(B} The Controller General of patents,
designs and trademarks appointed
under Sub-section (1) of Section 3
of the Trademarks Act, 1999,
shall be Registrar of Geographical
Indications

(C) The registration of geographical
indication shall be for a period of ten
years, but may be renewed from time
to time

(D) Bulsd s 8165 12

87. (1A ealcay U] 5 (Aot W1 B 2

(A) QRATRIPS) 523l ueal oI5
{UQotl WRSAR vyoiol] MOETE)
SHEEMINER:Y

(B) RUTRIPS) 5213 Aol 1eey
Al @y canur dpso 5203 w8
WHEAH] ey

(C) Asiell Al VG Qat oo
A Yo 522 AsLal
- oll®ls Au@ou u@s3le]
AW oltetellot A 1l Ao D,

(D) FLAU(TRIPS) o AR S
(TRIPS) 52(2lell ciflele 52 D wa A
UM (A g 2izeqen yea]
HER Gueod B, 2 1R Ay

CRUR WUl WHlen yRARR
WS QU B,

88. Hictell olloN@s 2w (el e

&) RN 1eee dsn Y

ealca Usloj 59 Quatot W13 B 2

(A) U SIAEL HIAMHIR ol
lolAs RIA o el Ay ceyd
R AUGL B Ho1eyss s> .

(B) cau2 Qe uRRaH 1eee o

- 5en 3 ol Qat sau (1) dsa

RHAd Veoe, Slosiset qa
RUUWR Rl 3R oty
loUAs RS o1t Aell scil
&9

(C) elol@s RAA Aeall 10 oy
UHAMOU H2 232 U Aof
Atclemd oclellsa 531 a5l




89. Match the following in the light of the
Information Technology Act, 2000.

List -1 List - Ul

Legal Provisions Contents

1. Power to issue
directions for blocking
any information for
public access

a. Section 66

b. Section 66E 2. Computer related
offences

¢. Section 69A 3. Exemption for liability
of intermediary

Punishment for
violation of privacy

d. Section79 4.

(Ay a-1, b-2, c-3, d-4
(B) a-2, b—4, c—1,d-3
(C) a-3, b-2, c—4,d-1
(D) a-—4, b-3, ¢c-2, d-1

90. Which of the following Section of the
information Technology Act, 2000 has
been declared unconstitutional primarily
on the ground of violating freedom of

speech and expression under Article
19(1)(a) of the Constitution of India ?

(A) Section 65
(B) Section 66
(C) Section 66(A)

(D) Section 66(B)

89. HBRA dselfl wlRlA2n, 2000
(Bl 25e0A) 52 ,2000)
ol ecll o0 Rott AssL SN

L€l - 1 atfél - 2
siojell Rlorauezll Qo1
a. 5@H 5% 1. oML Gucien AR
Acl A8 Bl
weslacl M2 [
aqucitell Uil

b 5AM 55-8 2. Hiyer delfld
9ot

c. seii se-R 3. urarellalledl
gl ELRL
Hi AUMUCLE
dficiellott @2
GlECL Aot

d. 56 9¢ 4.

(A a-1, b-2, ¢—3, d-4
B) a-2, b-4, c—1,d-3
(C)a-3, b-2, ¢c—4 d—1
(D) a—4, b-3,¢-2, d—1

90. Rl dsolls u@AuH, 2000
(Bo8lialel 25U Bse ,2000)
ol o0 eafcan Afloll 58 scAHA el

G120 350, VLUCHL AAC o WE
1¢(1) () dscell agfl et wal
@ caGRiell el ol eldL s
aeet yareala A AR curela

saraal 2wl 8 ?
(A) SEH SY

(B) 5EM 55
(C) B 55-
(D) SEeM $5-¢




91. On 4" October, 1958 which country's 91. ¥ el Leuc ot Aoy 52y E9lo]
Constitution was adopted ? AURQL elgd s UlR] ?
(A) South Africa (A) UG st
(B) Switzerland B) llenAes
(C) France (C) sl
(D) Sweden (D) 5ot

92. Which country’s Constitution was signed | 92. oflAei A4 52y Eolo] oltRQ e, 24,

into law on March 21, 1996 7 LGES ol Aoy SlaAELe] 3y Wy ?
(A) France (A) Slodl

(B) Switzerland (B) {l2%2Q0s

(C) Canada (C) 3alst

(D) South Africa (D) AGu 2Bst

93. According to the Constitution of the United 93. YoUsSs w2 s WABsL oy ZOTEL |
States of America, the Legislative powers S BIETEN Blo AR IlEL U Ae
granted shall be vested in of

the United States, which shall compose RISl e el8es Reda T

of and _ HQRA ud 3 @ U
o Walg] 233,

(A) Senate, Congress and House of

Representative (A) 2, AP U YRAROe o5
(B) Congress, Senate and House of

Representative (B) sl ARe wA YRR} 96
(C) House of Representative, Senate, . X

Congress (©) YRR o6, A2 | S3u
(D) House of Representative, Congress, (D) YA 318, sl WA A2

Senate




94. The Constitution of the United States of | 94. Yoilties B2 s WARSL o oluREl

America was adopted in which year 7 g2 addl aclsRauHl A ?
(A) 1787 (A) 19¢9
(B) 1788 (B) 19¢C
(C) 1789 (C) 19¢E
(D) 1790 (D) 19¢0

g5. Lo [Bot Yell el siltzeudl Bectl

95. Till date how many amendments are _
YUIRL AUML A 8 7

made in the Indian Constitution 7

(A) 102 (A) 102
(B) 105 (B) 104
(C) 103 (C) 103
(D) 104 (D) 0¥

06. :clleosedoso] GIIRQL SAL Y8R B 7
(A) aral

96. Constitution of Switzerland is

(A) Federal

@) wd wial

(C) Ascll

(B) Quasi Federal

(C) Unitary
(D} None of the above (D) GUsel A4 a8 B

g7. Wcloll retclatcltal wERAAH 1655

g7. Freedom of information Act, 1966 is an
sell TOUML URR sRcuMl a8 ?

Act passed in
(A) South Africa (A) AGY vUEsL

(B) France (B) st
(C) UK ©) Y.5.
(D) USA (D) Y. A™




98. Who is the Head of Sweden’s
Government 7

(A} Prime Minister
(B) President
(C) Monarch

(D) None of the above

99. Articles of Confederation is the
(A) UK Nation’s first Constitution
(B) Canadian Nation’s first Constitution
(C) USA Nation’s first Constitution

(D) Switzerland's first Constitution

100. US bicameral is comprising of

(A) The King, the senate and house of
Commons

(B) House of Commons and House of
Lords

(C) House of Representatives and the
Senate

(D) Lok Sabha and Rajya Sabha

98. 2cllsot Ealoll A251241 YHu SlRL QU

87

(A) utllel 1]
(B) ALUR
(C) A

(D) GURlsct Ugl 5168 o3

99. wElsc Al Slodsdolet A
(A) 3. %] Y vitiey B
(B BallSaiot 200g0] Yoy UYL B
(©) AYA. Age] yan siuzu ®
(D) x[2x%2qQ0s Ao} UAH ity B
100. Yoot @ ojsui Slod 2w sy
8 ?

(A) RABAA2 A UHe Helysall
(816 g o)

(B) UMl UGUIYE WA GURA]
AU B(&18U s )

(©) YRR 56 Aney AAzo]

(D) AlSUGU UA 2A¥2, uellol
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